Soustraction Avec Des Zéros (E)

10 000
- 5094

10 000
- 785

10 000
- 698

10000
-4 224

10 000
-5671

10000
-7 746

10 000
-1273

Calculez la différence.

10 000 10 000
-1617 -4 444
10 000 10 000
-8561 - 655
10 000 10 000
-9 880 -8 881
10 000 10000
-2 437 - 3411
10 000 10 000
-4 592 - 5300
10 000 10000
-5772 -3651
10 000 10 000
-7 288 -3 165

10 000
-6 834

10 000
-9767

10 000
-2491

10 000
-7 490

10 000
-3 205

10 000
- 169

10 000
-8 390
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Soustraction Avec Des Zeéros (E) Réponses

10 000
- 5094

4906

10 000
- 785

9215

10 000
- 698

9302

10 000
-4 224

5776

10 000
-5671

4 329

10 000
-7 746

2254

10 000
-1273

8727

Calculez la différence.

10 000
-6 834

3166

10 000
-9767

233

10 000
-2491

7 509

10 000
-7 490

2510

10 000
-3 205

6 795

10 000
- 169

10 000 10 000
-1617 -4 444
8 383 5556
10 000 10 000
-8561 - 655
1439 9345
10 000 10 000
-9 880 -8 881

120 1119
10 000 10 000
-2 437 - 3411
7 563 6 589
10 000 10 000
-4 592 - 5300
5408 4700
10 000 10 000
-5772 -3651
4228 6 349
10 000 10 000
-7 288 -3 165
2712 6 835

9831

10 000
-8 390

1610
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